Working Drawings
consist of:

@ Detail drawings:
Show all of the necessary information
to manufacture the necessary parts.

@ Assembly drawings:
Show how multiple parts fit together.



] I F O E] I i _\f__
B L REVISIONS | .{_I mm{_m_ﬂ.z _U.P._‘ _}_
; Bru] ummnm::.._nz REFIDAT € APPDL - —
@ [ifownms fonr oo )| | A MI6x2 WAS 2 WHIT |r.col| Fu
| MEDIUM L— L 8
KNURL !
| .
‘ 1 e % | 4% @
M16x2 -6H
MINIMUM QPERATIN HEIGHT - 78 mm ,. ’
WYWUELE . :
=
n "
| & [ 17643 [ 1ack BoDY [CIENS
i o e 1 AB 5 LO00[A SHAMBLES PTY LTD
[ [T [1764s | sPinDLE ® KD JM & L.oof—
RS tderens iz A APPDF.N. 8.4.000 JACK BODY
| MACHINE SCREW JACK ISSUEDK.§. 9-4.00
- REF SIZE A4]DRG NO17643
L — M . ASSY NO 17646 [SCALE1- 2] SHEET 1 OF &
L U 7
0 fa)
SYM|  REVISION ATE [APPD]
A |M16x2 WAS mixn I.6.00| F.n
I0°CHAMFERL L oL IP16V 4
CENTRE DRiLL HEX 24 AF 12
5 AT TOP ®
\QR;N M6 x 2 - m_ﬁ | 8
bl o
(=] I - -
e 20HS e
o — x
110 55
DIMSIN mm N AB 5 4.000A. SHAMBLES PTY LTD| DIMS IN mm YB 5. 4.00/A SHAMBLES PTY LTD
TOLERANCE CKD JM 6. 4.00 TCLERANCES RRO I M ©.4.00]
+01 ALL ERIAL [APPDFN 8.4.00 SP|INDLE +0,1 ALLQ ALMEED EN2-00) SPINDLE CAP
W Ms ISSUEDK.5 9.4,.00 - . _Mwwg m.--...r.%m_Nm AL|DRG NO 17645 A
FINISH REF SIZE AL|DRG.NO 17644 A AS 1100 .
AS 1100 /' _|ASSY NO 17646[SCALE 1 -2]SHEET2 OF & | PN T01TBED SCALE1: 2|SHEET 30F &
T




I ~ 7 [ 3 [ I

&)
M| REVISION  |DATEA
a 27 "
w0 o | A IMIEx2WAS 2 WHIT |r.eol F.v
X MEDIUM \—L- 8
KNURL !
g e
il i
, w|R2
™
- © | >
o
; LIGHT RIVETING 0f I Jﬂ.l - ' { .
T0 SECURE WASHE ﬁ
\ | P40 | ¢22
4 _
DIMS IN mm .@. . DRN A.B 5. 4.00|A SHAMBLES PTY LTD
| TOLERANCES: |27 m.w%cwﬂ w.”.%!uhox BODY
IAL APFDFN. 8.4 00
* OTALLOVER Py 's ™" [ISSUEDK.5 9.ku00
. .... |FINISH , |REF ISIZE A4|DRG NO17643
_ AS 1100 7 |ASSY NO 17646 [SCALE]. 2] SHEET 1 OF &
L.
.u\u TOLERANCES |2y T [CRU I P &5 -00]
_ 1 +0,1 ALLOVER MATERIAL |APPD FN.8.k-00] SPINDLE CAP _
| MS  [ISSUEDK §.9.4.00 "
~ AS 1100 [FINISH REF SIZE A4IDRG NO17645A] |
-~ V' |ASSY NO 17646 [SCALET 2|SHEET 30F 4] |
J }
) .b. = ISSUC T s, |
T FINISH |, |REF SIZE AL]DRG.NO 17644 A
_ _ AS 1100 7 |ASSY NO 17646 [SCALE 1:2]SHEET2 OF 4
J
| A
L | 17843 | Jack Booy ?m_ 1 _l
3 = STANDARD WASHER |
17 2
! 1 [ 17644 | SPINDLE A | 1
i TEMDRG NO DESCRIPTION ary
! . A SHAMBLES PTY LTD 0
| MACHINE SCREW JACK
SCALE11|SHEET L0F 4| DRG MO
AL
AR T ol s o e o] 17646
] z ] 3 I &




Detail Drawings

This includes multiple views providing the shape description
, dimensions and notes, and material specification

45° SURFACE TO INTERSECT NORMAL \zesia reommmwroe] 11
SURFACE WITHIN #,005 OF CENTERLINE CancE WS N
9 ~B.410-.420 C -
485 7] i 225 @ PLACES _IR373)
4754 7 1 e
03 i, | 7:6-95] 0 [DW 180,205
WAS 182-.199 G
secT L-L THESE HOLES MUST BE PARALLEL WITHIN e
DOUBLE SIZE 45* £0°30° .002 IN 3.00 INCHES IN BOTH PLANES l-lmzicsém SECTSE
[ REMOVED
I»l7ﬁ£NOTE REVISED 4
ROD TO BE CORRECTED 1422
FOR WEIGHT BY = MiN TRAVEL OF CUTTER
MACHINING AND DRILLING 95 505 FOR SERVICE FOR MACHINING
THIS LUG AS SHOWN 508 "T'Ags @1.335 MIN
-L J MEASURE FINISH BORE 229" 20" 15 MIN
@ DIA IN THIS DIRECTION. CUTTER
® - > MUST BE ROUND 225 20" I5' MAX
Tk WITHIN 0005 TIR CUTTER " ®
205 _ t 2 616
180 [~ 128 /) 591
N _£§ 3. 23745 N 53N
1 04 -
R A fr300  {-F\ 2370 R S I
o |34 l< CUTTER Y\ 34 123
L < S + 34 Ten
I - - / By 067]- a . 1482026
067 RI00- )
087 /' M 1wo J 057 N
sect D1 X45" PLACES secT £732 x 45° CHAMFER
Me CHAMFER BREAK SHARP 25°£0° 30" MIN CUTTER N-N - view J-J
VIEW K-K CORNERS BOTH  23"20" 30" MAX CUTTER MAKE FROM 1480994 FORGING
HOLES
6.50! gi‘“%%' Mix
_—__—__,{ ! -
@625 : 6499 BORE CGE:LERS .
.51 REFER TO 1481061 & 1481074
g.ggl <';°/§ . . 6.490 SPLIT LINE ONLY BLIBO MIN 06  FOR WEIGHT CONTROL DATA.
[ .869 .01-02 x 45° CHAMFER - Meo-t3dt o }’ﬂ
v 7= AT Vr,r BOTH SIDES = 26MAX [T 10 i i O 6 v o
T L T — 1 ' L | e
N4 ‘Hm g F—t N J 1 \Kg E e M. JACEK
% = N =rs 6 MAX =¥ —— “k.duwm
1423 439 T A ! TATINROf 1480994 [l ke |
2485 3 B £.3855. 3907-2 HOLES $1.335 MIN MIN MARKED PRINT |
2.483 3892 - 3907 - 2 HOL S
ROD TO BE CORRECTED SEE FORGING DRAWING
THESE SURFACES MUST BE THESE HOLES MUST 8€ FOR WEIGHT BY VIEW SHOWING ROD - e o
PARALLEL WITH EACH OTHER AFTER MAX AMOUNT ROD - ENGINE CONNECTING
SQUARE WITH ¢ OF HOLE  inl a0 1N 3100 INCHES HOLLOW MILLING BOTH o A e & (FINISH DRAWING)
WITHIN 001 TIR AND PARALLEL  IUIHIN, A S ENDS EQUALLY ° LANCE STOCK
WITH EACH OTHER WITHIN .00 EMOVAL 1482026 c




Assembly Drawings

Show the assembled machine or structure,
with all detail parts in their functional postitions

@ Design assemblies or layouts

@ General assemblies

@ Working drawing assemblies

@ Outline or 1nstallation assemblies

@ Check assemblies



| &

LIGHT RIVETING OFERATION REQD
TO SECURE WASHER OM ASSY

REVISIONS

BT M

DESCRIPTION

laeelpat e arrn

A [Mi5=8 was m-_._._::,

cd el

[

ITEM 3

! M5 WASHER ID 8.5
o0 13, 1.5 THICK

MINIMUM QPERATING HEIGHT - 78 mm

MAXIMUM QPERATING HEIGHT - 125 mm

c
& | 17643 | sack Boov (ay] 1
3 - S5TANDARD WASHER 1
2 | 17645 | SPINDLE CAP 1
1 | 17644 | SPINDLE (OIE
[TEMDRG WO DESCRIPTION ary
A SHAMBLES PTY LTD D
MACHINE SCREW JACK
[CALE T SHEET COF &]  DRC MO
176668 (M¢

amm.an_. AT T




Part Lists of Assembly Drawings
For A1, A2, A3, A4 size sheets.

15 40 70 15

|< »le— »|< ple >‘
|
9y | & [17843] sack moov i
| 3| - | STANDARD WASHER |
2 17645 | SPINDLE CAP 1 |

| 1 [17644 | SPINDLE OIE
EF'iUHﬁ I'-Ilﬂi DESCRIPTION ary
A SHAMBLES PTY LTD 0
MACHINE SCREW JACK




Assembly Parts

The combination or ‘fitting together’ of components

designed to perform a specific mechanical function.

Each component has a finished size which lies within

a specified tolerance.

Two types of assemblies:

ASSEMBLY A

ASSEMBLY A

7, -y
///:

- A

<

!

Y s

External assembly Internal assembly



Tolerances

Tolerances should be specified in the case where
a dimension 1s critical to proper functioning of a component.

basic size 85 mm it H3/d10

' Shaft

upper limit-= |

:\ﬁbsiiss __‘

84.74 . .
@ ~ —lower limit

% f Bore %

|

$85.09
@85.00

e T




Individual Tolerances

basic size 85 mm it H3/d10
| | Limits of size
DsL 88 |
- @gi,?a —‘

basic size 70 mm  fit H11/¢c11
25+ 0.25

é

—

0.1
] ®70 -0.3

Bilateral tolerances Unilateral tolerances



Assembly Tolerances

ASSEMBLY A

%/

\\ ',.f'f
A NI
/ \ \ g
0 .
/ YD

. | upper limi

e |y - 1005 e - 200 . g - 1005 uppe |.r I_ES
| 335 | 19.3 ¢ 9.95 lower limiis

402 =1005+20.1 + 10,05 upper limil

Q= e e,
39.8= 9.95+19.9+9.95 ; lower limit

External Assembly




Assembly Tolerances

ASSEMBLY A

),

f.-"r"r.--" ’
/
NN /f‘

A A
v

\\// //4/} %

.65 upper limit

.-'
f’ A

P05 lower fimit
1 . ;
15.03 20.! __upper limits
e L — ot
14.95 | 15,9 | rower limits
|
" upper limit
g - — ey |j n * s - .

lower limit

Internal Assembly




Examples

X

25.55

= 25.35

JL

"
-

12.75
12.65

25.55
25.35

40 * 0.50




SCREW THREADS

Lk

Rl




SCREW THREADS

Fig. 1 | Detailed Metric, American National, and Unified Threads.

Solid circle it opening

Solid circle it screw Root and crast lines : 7
s chamfered —

s chamtfered may be omitted —

AR A A Ry -

AR R TAY // _\\
il 71N

l vA\Ja\AV“«Aua — I- -
ELEVATION END
Last line /s a cres? fine SECTION ELEVATION END
(G) EXTERNAL DETAILED THREADS (b) INTERNAL DETAILED THREADS

Fig. 2 | External Thread Symbols.

L T5-IOUNC-2A M20 x 2.5

272 ) /A [rzrezy T
= O & k e LU 0.»/
P L] : 'r.._|__,.4- [

(a) (b) (c) METRIC ()
SIMPLIFIED SCHEMATIC




SCREW THREADS

T N : i , T
MAJOR 5 (125) | c | a7e | sare | e | e e c | -
5| .375 |.4375 | . 5625 | 625 |.6875| 75 | 825 | . 9375
DIAMETER [#2 316 | 3125 | 375 5( 5 5| 6 25% 875 #29
| : ' I : ! o | _ _ ]
DEPTH, D] 0325 |.0325 [.0325 | .0468 | .0468 | 0625 | 0625 | .0625 |.0625 | 078l 0937 | .0937 | 0937 | .0937
PITCH, P | 0468 |.0625 |.0625 |.0625 | .0625 | 0937 |.0937 | .0937 _0937i 125 J254¢ 125 i ;25_J_J25

(For metric valves: 1”= 25.4 mm or see inside front cover,

@.313-7.875

%-reumc—za
7688
Ay

THREAD
LENGTH

SIMPLIFIED — EXTERNAL

. TAP DRILL___,

DEPTH

Not actual
drill dia -

—THICK

<.562-12 UNC-2A

h,

£

(D

M

|
| THREAD
~LenGTH ™

(@

SIMPLIFIED — INTERNAL

THIN

7
s

/
—THICK

M4 x 2 6g
hS

-THIN

©)

k—TMCK';7

577

i

.\_\
—THIN

h)




SCREW THREADS

Final crest line beyond thread length —

L_‘I’HF?EAD___»‘

/ §-562-12 UNC-2A

M4 x 2 Bg

SCHEMATIC —EXTERNAL

,WH
Liucs L
(m)

Thread length to nearest full px"fch/

LENGTH
0)
—@.313-7.875 . TAP DRILL
\
\ 2-16UNC-28 DEPTH
\ 7688 Not actual
\\' arfll dia —,
'.\ - — D \".
N
\ } QJ <
i / 4 0O -
N —— -
}
THREAD
©) -L“L,ENGTH_"'|

®)

SCHEMATIC — INTERNAL

- TH ICK—- -

1
I.I




SCREW THREADS

$.6562 -¥1.38 —l$-6NC-3 LH DOUBLE
2-10 NC-2 LH-71.00 \ IPNPT—W\\
y ERR %% N

e

N
NN ! N R R PR
NN NN —Thread depth i
hY oo N Ay L
NN ‘-\_\\.\ L ———efhand
NN
NN NN e e
N AN —lass of fit _ _
\"\ N \" p n The + S 4
v\ ——Coarse Thread Series ’ f
AY AR —
NN ——Naotional [Form) 4 A
*, M, .
—Threads per inch (Series) o
Ay
P (CJ (d)

Metric tha form -\ \T-’zf@"ar aia of thd (basic/ General- Purpose —
NN — Pitch Class of Fit -

| ! "U*_{; A \ |
1 (/ iajx MIO X 1.5 I%—BSQUARE 1§—5ACME—2G
Lot S&8T %
////T | e l‘ ‘ ‘ ‘

\\\\\\\\\)k A

“\\‘\\\\\‘\\\\\\\‘{\\‘\\\\\\
(%)

e




SCREW THREADS

—Metric thread form Major dia of thread (Basic/- v X—Pﬁr‘ch
Z —Major dia of thread (Basic/ Metric thread form
! / /!
4 7 ry 7
MIO X 1.L5-6H LH —MIO X [.5- 6Hx’:1'§]6§
A Y /
1 [ L teff-hand s folerance graae &
: 4. \/ z for internal thd
M ! “~ L Jolerance grade - internal thd (T Tolerciric Griicie
I Hl” " —Pitch ||Hl‘:J| M for external thd
(Q) INTERNAL THREAD -METRIC (h) EXTERNAL THREAD-METRIC
—Major diq of thread (Nominat) Major dia (Nom ) —Class
- It \ of fif
/—.25"" Ep Ul}uC—’E? L‘h .25 F;B U[}.H—_ Z;f\

Lt eft-hand L External

f e . . L - '
L _Unified form —Coarse Series Il Threads per inch

T I/ L -Internal thread (ﬂ -+ 4 —Uwﬁed form -
H._ /e N /) Closs of fit il H' LI m Fine Series
\ /} -II-I.. .l m—f |

Threads per inch

(1) INTERNAL THREAD Un/ified () EXTERNAL THREAD Unified



